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In selection problem, the rank of an element will be its
position if we sort the input data.

Select the correct option

first
o)

[ final
o)

Second last
O

Last
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We can make recursive calls in Fibonacci
Sequence.

Select the correct option

Infinite
o)

Finite
O
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In Heap Sort algorithm (using max heap), when every time
maximum element is removed from top

Select the correct option

We call merge Sort algorithm
O

It becomes Order n2 Algorithm
O

Divide and Conquer strategy helps us
O

We are left with a hole
O
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Dynamic Programming strategy is useful when sub-
problems are independent.

Select the correct option

True
O

False
O
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In order to say anything meaningful about our algorithms, it
will be important for us to settle on a

Select the correct option

Java Program
O

C++ Program
O

Pseudo program
O

Mathematical model of computation
O
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Counting sort assumes that the numbers to be sorted are in
the range

Select the correct option

k to n where nis large
O

1 to k where k is small
o)

k to n where k is small
@)

k to n where n is small
o)
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Boolean operation is a operation on an idealized
RAM model of computation.

Select the correct option

Starting

0
~ Basic
O
Advance
O
Normal

O



